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NRP XQLNDFIL ORGX4 BHUXNIXUD L
*UXS\ 3RZVHP (IF RUJDQL]DFID Z SRPRF\
&N $ 36 VHP  (IF VSR4HFTQHII
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5] 36 VHP  0LF F\N0 $ 3UDFRZQIN &\ZLEVNL &
£ 2UJDQL]DFID VSR4HF]QRGFL PJU
ORNDOQHH 36 Z
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VHPLQDUXP 7\G] YDNXOHW 7\G] UZIFJHQLD 7\G]
ORGX4 6HPLQDULXP G\SIRPRZH ORGX4 =DU]aG]DQLH
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F\NO $ 36 = VSDUFLH Z F\NO $ $GP VHP = \PLDUJH . XIXURZ\P
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3UDFRZQIN =LHILEVNL . GU VHP  F\N0$ 561 PJU
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o 36 VHP (0IF F\N0$
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ORNDOQHH 36 Z
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= VSDUFLH Z UHVRFNDOL]DFIL
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3RPLHV]FJHQIH O6 7HDPV
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YDNXOIHI 7\G] (ZIFJHOD 7\G] (ZIFJHOD 7\G]
ORGX4 3RGVIDZ\ ORGX4 6XSHUZL]ID Z SUDF\ VRFIDOQHI ORGX4 BIUXNIXUD L
NRPXQLNDFIL *UXS\ 36 VHP  OF F\N0$ 2UJDQL]DFID VSREHF]QRGFL ORNDOQHI 36 RUJDQLIDFID Z SRPRF\
*UXS\ 3RZVHP (F Z = \PLDUJH . XUXURZ\P VHP  (LF F\N0 $ VSREHF]QHII
&\N0$ 36 VHP  (IF 3UDFRZQIN ODFLHIDN O PJU *UXS\ 36 VHP  (IF
FANO $ $GP VHP  (IF | 3RPLHV]F]JHQLH O6 7HDPV F\N0 $ 2UJDQL]DFID
F\NO $ 32: 3$VHP VSR4HF]QRGFL 0RNDOQH!
&\N0$ 36VHP  F\N0 36 Z - \PLDU]JH . XOIXURZ\P
a $ 561 VHP  0F F\N0 VHP  OFF\N0$
& $ 32:-VHP  F\N0S 3UDFRZQIN &\ZLEVNLa PJU
& 36 VHP OF F\N0$
= 2UJDQL]DFID VSREHF]QRGFL
ORNDOQHII 36z
= \PLDUJH . XOIXURZ\P VHP
0LF F\N0 $ 36
= VSDUFLH Z UHVRFIDOL]DFIL
GURGRZLVNRZHIVHP ~ F\N0 $
3UDFRZQIN 5]RQFD ( GU
3RPLHV]FIHOLH O6 7HDPV
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VHPLQDUXP 7\G] YDNXOIHI 7\G] UZIFJHOD 7\G]
ORGX4 6HPLQDULXP G\SIRPRZH ORGX# =DU]aG]DQLH IDNRGFLa, | ORGX4 6XSHUZLIND Z SUDF\ VRFIDIQHY
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GURGRZLYNRZHI VHP $ 561
F\NO $ VHP  OIF
3UDFRZQIN =LHILEVNL . GU F\N0 $
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